(BLODGETT]]

PARTS LIST
ELECTRIC TILTING SKILLETS
MODELS: BLG-30E
BLG-40E

BLODGETT OVEN CO = 44 lakeside Ave = Burlington, VT 05446
Tel. 800-331-5842 = Fax 802-860-3732 = www.blodgett.com

1

2007-06-26



5649-R0O




*%

*%*

*%

PARTS LIST, ELECTRIC TILTING SKILLETS, MODELS BLG-30E, BLG-40E

ITEM

-
O © 0o N o o b~ w DN

-
N -

13

14

15

16

17
18

DESCRIPTION

Cover Assembly

Cover Assembly

Pour Lip Strainer

Base Bracket

Bronze Bearing

Pan Tilt Bracket

Lock Washer

Socket Head Screw

Component Mounting Panel
High-Limit Thermostat

Contactor, 208, 220, 240V
Contactor, 220/380, 240/415, 480, 600V
Ground Lug

Terminal Block Section

End Section

Fuse, 1 Amp., 250V (208, 220, 240V)
Fuse, 1/2A, 600V (380, 415, 480, 600V)
Fuse Holder, (208, 220, 240V)

Fuse Holder, (380 415, 480, 600V)
Control Panel

Control Panel

Control Panel Decal

Control Panel Decal

Temperature Pilot - Red

Operating Thermostat

BLG-

-~ 18

= NN NN 2 A A4 a4 4O o a N AN NN -

BLG-40

N N N N = A o0 a4 a a a M B NNMNN = -


http://www.partstown.com/blodgett/bl42573?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42909?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41004?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl40892?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl40943?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl40840?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41859?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41765?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41844?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41769?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42575?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl40820?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41005?pt-manual=BL_BLG-E_pm.pdf

*%x

PARTS LIST, ELECTRIC TILTING SKILLETS, MODELS BLG-30E, BLG-40E

19

20
21
22
23
24
25
26
27
28
29
30
31

32
33
34
35
36
37
38
39
39
40
41
42
43
44

40848
40849
40994

Dial (F)

Dial (C)

Bezel

Set Screw, 1/4 - 20 x /2
Tilt Decal

Screw, 10-32x 3

Tilt Handle Assembly
Input Shaft

Adjustable Foot

Flanged Adjustable Foot
Retaining Ring

Special Flat Washer, 1/2"
Oilite Bearing

Upper Tilt Arm

Liquid Tight Connector/Strain Relief
Liquid Tight Locknut

Tilt Switch

Lower Tilt Arm

Retaining Ring

Key, 8 mm x 10 mm x 5.5"
Hex Nut, 3/8 - 16

Screw, 3/8 - 16 x 1-4"
Gear Box

Output Shaft

Output Shaft

Key, 8 mm x 10 mm x 1"
Set Screw, 3/8 - 16 x 1/2"
Screw, 3/8 - 16 x 1-1/2"
Right Hand Access Panel
Screw 10-32 x 1

e N i U L 1 U L U UL U 1S I Gt U | NG TN G [ U (I U U U U U §

AN A a a a

N U U U | O 1K UL U U U U (S IS U G O T S N U U UL UL UL UL U N

A A A A a a


http://www.partstown.com/blodgett/bl40848?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl40849?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl40994?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl43212?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42536?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42535?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41131?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41474?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl40127?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42539?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl43450?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42596?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42534?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42597?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42802?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42587?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42537?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl43452?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41837?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl43453?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl43454?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl43455?pt-manual=BL_BLG-E_pm.pdf

PARTS LIST, ELECTRIC TILTING SKILLETS, MODELS BLG-30E, BLG-40E

45 43456 Set Screw, 8 - 31 x 5/16" 1
46 43457 Yoke Pin 1
47 43458 Screw, 5/16 - 18 x 1 4
48 43460 Rear Panel 1
43461 Rear Panel
49 43424 Screw, 10 - 32 x 2" 4
50 41543 Lock Pin 2
51 41546 End Lock Plate 2
52 43106 Stationary Disc 2
53 41100 Core 2
54 41526 Spring 2
55 43107 Rotary Disc 2
56 41520 End Stop Plate 2
57 43463 Screw, 1/4 - 20 x 3/4" 8
58 43464 Hinge Support Assembly 2
59 43507 Right Hand Insulation Shield 1
43508 Right Hand Insulation Shield
60 43509 Left Hand Insulation Shield 1
43510 Left Hand Insulation Shield
61 43511 Screw, 1/4 - 20/ x 1" 8
62 43512 Flat Washer, 1/4"
63 43513 Hex Nut, 5/16-18 29
64 43514 Flat Washer, 5/16 29
65 43178 Element Clamp 9
40185 Element Clamp
66 41945 Element Assembly, 208V, 4 kW 3
41951 Element Assembly, 220/380V, 4 kW 3
41949 Element Assembly, 240/415V, 4 kW 3
41950 Element Assembly, 480 (287V), 4 kW 3
41952 Element Assembly, 600 (347V), 4 kW 3

N 00 N N N N N NMNDN b -~


http://www.partstown.com/blodgett/bl43458?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41543?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41546?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl43106?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41100?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41526?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl43107?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41520?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl43463?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl43464?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl43178?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41945?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41949?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl41950?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl56?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl57?pt-manual=BL_BLG-E_pm.pdf

PARTS LIST, ELECTRIC TILTING SKILLETS, MODELS BLG-30E, BLG-40E

42271 Element Assembly, 208V, 5 kW
42273 Element Assembly, 220/380V, 5 kW
42280 Element Assembly, 240/415V, 5 kW
42274 Element Assembly, 480 (277V), 5 kW
42279 Element Assembly, 600 (347V), 5 kW
42272 Element Assembly, 208V, 6 kW
42276 Element Assembly, 220/380V, 6 kW
42275 Element Assembly, 240/415V), 6 kW
42277 Element Assembly, 480 (247V), 6 kW
42278 Element Assembly, 600 (347V), 6 kW)
67 40428 Thermostat Bulb Closure 1
68 43467 Socked Head Screw, 2 - 13 x 1 2
69 43468 Lock Washer, 2" 2
o 70 40974 Transformer, 380/415V - 240V, 100 VA 1
40980 Transformer, 480 - 240V, 100 VA 1
*owx 70 40985 Transformer, 600 - 240V, 100 VA 1

ALTERNATE PARTS

Page |Item | Crown | Blodgett

3 16 7276-1 | 42566

el T ) I \ S R GO RN O I L R SC RN O B SO RN 00 BEN @0 BN 08 BN ¢V )


http://www.partstown.com/blodgett/bl42271?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42280?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42274?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl42272?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl40980?pt-manual=BL_BLG-E_pm.pdf
http://www.partstown.com/blodgett/bl40985?pt-manual=BL_BLG-E_pm.pdf

PARTS LIST, ELECTRIC TILTING SKILLETS, MODELS BLG-30E, BLG-40E

Page |Item | Crown | Blodgett

7276-2 | 42567

4 19 4736-1 | 43029

21 5608-1 | 42838



http://www.partstown.com/blodgett/bl43029?pt-manual=BL_BLG-E_pm.pdf

